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There is a ‘Cool-off time’ of 15 minutes in addition to the writing time.

Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
Read questions carefully before answering.

Read the instructions carefully.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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Answer all questions from 1 to 9. Each carries 1 score. . 9x1=9)

1. Vinod, an Indian trader is engaged in the business of importing goods from France and
exporting the same to America. The category of trade Vinod doing is

(a) Export trade
(b) Import trade
(¢) Entrepot trade

(d) Wholesale trade

2. “Members may come and go, but the company continues to exist.” Which feature of
Joint Stock Company is referred above ?

(a) Perpetual succession
(b) Separate legal entity
(¢) Risk bearing

(d) Formation

3. The principle of indemnity is not applicableto  insurance.
(a) Fire
(b) Marine
(c) Life

(d) Freight

4.  The most widely used payment mechanism for online transact:ions is
(a) Cheque
(b) Cash on delivery
(c) Digital cash
(d) Credit or Debit cards
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5. Carbon monoxide emitted by automobiles is a major cause of pollution.
(a) Land (b) Water
() Air (d) Noise

6.  The document which defines the objectives of the company is
(a) Memorandum of Association (b) Articles of Association

(¢) Prospectus (d) Minimum Subscription

7. The institution formed with a view to promote, aid and foster the growth of small
business units in India is

(a) National Bank for Agriculture and Rural Development (NABARD)
(b) National Small Industries Corporation (NSIC)

(c) The Rural Small Business Development Centre (RSBDC)

(d) Small Industries Development Bank of India (SIDBI)

8.  Find the odd one :
(a) = Hawkers (b) Speciality shops
(c) Market traders ' (d) Cheap jacks

9.  Complete the series as per the hint given :
(a) Document that guarantees payment — Letter of Credit

(b) The receipt issued by the commanding officer of the ship after the loading of

cargo— 7

Answer any 6 questions from 10 to 16. Each carries 2 scores. 6x2=12)
10.  Identify the form of public sector enterprise in the following cases :
(@) In such organisations at least 51% paid up capital is held by Government.

(b) These are brought into existence by a special Act of the Parliament.
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11.

12.

13.

14.

15.

16.

17.

18.

19.

Write any two benefits of €-commerce to consumers,
State any two responsibilities of an enterprise towards the workers.

‘As a source of finance retained earnings is a better option than other sources.” Give

two reasons to justify this statement.

Identify the type of retailers highlighted in the following statements
(a) Hari sells second hand books in Trivandrum city.

(b) Babu sells ice-cream from one street to another on his bicycle.
Write a short note on the term contract manufacturing.

‘As compared to other modes of entry, exporting and importing is the easiest way of

getting into international markets.’ Give any two reasons to Justify this statement.

(Hint : Advantages)

Answer any 4 questions from 17 to 21. Each carries 3 scores, 4x3=12

Briefly explain the causes of business risk. (Any Three)

The oldest and most traditidnal form of public enterprises in India is departmental

undertakings. State any three merits of it.

Identify the type of e-business transactions listed below :
(a) Kamal withdraws money from ATM.

(b)  Mohini sold her old watch on e-bay.

(c) Tata Motors bought tyres from MRE.
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20,

23.

24.

25.

26.

217.

“Promoters perform various functions to bring a company into existence.’ Explain any
three such functions.

The Directors of Metro Ltd. decided to tap global finance for its expansion programme.
As a Financial advisor, give a report highlighting the various international sources of

finance to the company.

Answer any 4 questions from 22 to 26. Each carries 4 scores. (4 x4=16)

Co-operative societies offers many benefits to its members. Explain any four benefits of
it.

Briefly explain the various features of Global enterprises. (Any Four)
Draw a chart showing the different types of insurance.
Describe the problems of small business in India. (Any Four)

‘Duty draw-back scheme’ is a foreign trade promotion measure announced by the
Government in its export-import policy. Explain any other four measures in this regard.

Answer the question 27, carries 5 scores. (tx3S= 5)
Match the following : |
(V) (B)
(a) ADR (1) Interest
(b) Equity Shares (2)  Short-term source
(©) Preference Share 3) International source
(d) Debenture (4) Voting right

(e) Commercial Paper (5) Fixed rate of dividend
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28.

29.

30.

31.

32.

33.

Answer any 2 questions from 28 to 30. Each carries 5 scores. 2x5=10)

“Auxiliaries to trade helps in the removal of various hindrances in the production and

distribution of goods.” Briefly explain the various auxiliaries which support trade.
Express your arguments in favour of social responsibility of business.

Distinguish between Memorandum of Association and Articles of Association. (Any
Five)

Answer any 2 questions from 31 to 33. Each carries 8 scores. 2x8=16)
(a) Name the specific form of business organisation found only in India.
(b) Explain any four types of partners.

(c) Write any three differences between a public company and private company.
Explain any four principles of Insurance.

Mail order houses are the retail outlets that sell their merchandise through mail. Explain

its merits and demerits. (Four each)
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